R TR
RV o ¢

Bz - e
- R A & BT AV - R D FESIE R FT 4 0 A L FEFTR
L #E gt F0A =mOA > A L4 O¥ABSm S g - / HRepE | HRELe) [ Api
- MEEFERE AL P UREERRETE > k- B R 0 D B %75
@& B~ 3 e ehl > A
“%{ﬁﬁ'é‘fl%éf‘ R A * ° @F A5t > 2
O F 7B ﬁ*;:,g PRI R FEAR O HEE_ 0 MEE_ - @ L2

®F B~ A ol > E3

sE- -—-—

G RBREMNME & = & 27
Yol > ¢ dve BIELY BE T Bl e ¥ B § T AR Grfee%s bzt

3T F e 8
(D2 BA BB &5 52 7 D3 BT 7w 3

D A’
Q > D'
20 100° 12 E 3
Sl BE R e g LS %Y ”" o) OrAMrER

(2)%21=2CD =?2BC =2 B . c o ’2 o OLR =X =N
Gl -
A eE A R A3 AR 2 MIEFH A AN RERTEZE R

S NIV FEEA5 4R L P
1 AR 027) 1 & BTG A > 2B 4 f ~ =80 RRAGRARR o A B 5 AR 0] 0
QAR 587 A BEEARR S ek v PR R AR T HARES B

WRAED B S FAAR L AP IR T~ AT B S AR 02 4 -
“IJ%\_: 3 |
(1) st 37 5 A4p 0275 2 [f3) :

(8 (B) L A '

4ol > % 7 83,ABCDE~T §4,A'B'C'D'E’ » # :

DAE : A’/E" =?B'C'=? QED=9?E'D'=9? @«zB=?2+4C=7




l;l]%{'-
¢ 5vAABC~ADEF > *AB=2x+1"BC=15>AC=3x"DE=x+2"
DF=x+4>%:Q x=?@AABC: % £ : ADEF% £ =

5] 58
LEES Bipinae fA, Dx=2Q y=2?

B A8 =
doffl > 3 - = #AABCD g 2Lk 54 ] 5 A(0,0) ~ B(6,0) ~ C(4,4) ~D(1,3) » 4r& &
¥ -z #A'B'C'D'¢r v :$25ABCDAp 7 » ¥ TR B4R A B 5 A'(1,0) ~ B'(4,0) »
C'(32) *D'(s,t) > Rls+t=7

I
/‘ \\
Al AT B" B '

,’;dgg N

7
AP B LB R 2 A ER ARSI T SEAE A ?

4 Al AR nD S A58 AB00K. > T £ 3 P ch 12 B S Aot BlehE S A e £ n

Z AR Z & A E)
(1) AAA(AA)#p i1
4@ > 2AABC# APQR*® > LA =+£P > £B=2Q > £C = 4R > ##H PP AABC~APQR -

--?\5“*Iﬂg ‘LA = /P A
' . #-AABC % 3] APQR A
x " "zB=¢4Q" ..BC//RQ g .

—

—

.AABC £ APQR %+ fiy 8 Y .

(2) §§S4p i

4§ > &AABC2 APQR*® > AB : PQ =BC : QR = CA : RP > ##. P AABC~APQR -
‘j:

/
4PO I - S » & 9PS = AB A

HSITE 7ML PR®T ..ST//QR J .

£PST = 2£Q » £PTS = £R

—

—

(3) SASHp i
4@ > & AABCZ APQR® > A= +P* AB : PQ = AC : PR » i##.P AABC~APQR -
LA = /P #AABC ¥ 3| APQR ¢ ;;A(- A

y g :

Be::PQt - CB-APR!

i




bl AE A
4@ » AB//CD » AD#BCAp 2 **E » #AE=3"BE=2>DE=4> £CE =7

GlAEL

AABC¥ ADEF*¥ »£A=¢D> BC=32AC:DF=AB:DE=2:5> £EF =?

blgEL -

4@ » LACD=2B>AB=8BC=6°CD=12>AC=9 £AD =7?

4c@® » AABC¥2ADCE3s 5t = 425 ¥ B~C D "E=z 2+ % > % BC =12 AF =8>
PIDE =?

4-BJAABC *AECD% 5+ = 42, B~C-D=zg.+2 %> FAB=2>CE=4>RBF=?

B

IRl
4AABC¥ » AB=AC =10 2£A =36 > {¥2ABC#H1 4 T & 502 AC* D8 » FADthE

vz,
%09

E
A
B C D
gty ———m———m——————
4e@ 0 & 3 AABCDHiE £ 520 FACEDE4p 2 %0 » BE=5> £0D =?
A D
0
E
B C
MEL+rs -
4§ » %635ABCD¥ » AE L BD » EF L CD » #AB =15 BC =20 KEF =9
A
[
15 ;
\ E
B ..... _‘_-‘__20___"’_,... c



l’}lj,gg__l___‘
4e@ 0 T 7w #3,DBCF? » #AB=18CF=6'BC =15 REF =7°

A
D,AVE F
/o
A
4
6 E
12

B
D
A
B C

f}|J‘,gg—-L N
4-@B) » #AABC? » % ZAED = /B’ p|AD =?CE =7

GIAg- 4
4@ > AB//CD/JEF » AB =16 TG =6DG =24 » +EF =9

D
A

G
B F C

EIE
Wl A1)~ B(7,4) ~ C(k,10)5 44657 1 fpB = 8 » $A-B-CZBhlk- 3
AR Rkenig o

Y L
A
C(k, 10)
B(7 .,4)
oAG.1) .

I A5

1. A 4p 12 = & 2JAABC~APQR %t s et %3 (1)

@ (3) (4) :
A
P
’ FED 0 Urs R
2. @ AL Z & A5ihg ff at £t )
S

4@l » %L,/ /L, » AE =2+ DE =1 AABE# # % 12 » ACDE: s # % = ?

4-) » $-2,ABCD¥ » AB//CD » AC¥:BD#p % **E » ¢ &*BE = 3 » AAEB = 16 -
ACDE=64- % : (1 BD =2 @ +-7ABCD% =2




A=
4@ » AABC¥ »DE//BC+AH LBC» ¢ &+rAH=22% »BC=32% »GH=052
2 "j\ﬁz
A
P
ml
|3
4-@§ > AABC® » /A=90""DLAC}+-2 DELBC> *DE=3"EC=4">
ACDEu?ﬁ_l,EIIJ—E:

AABCw ## 2

/A}D\
B ¢ C
E

g -
“AABC? » LA=90°* AD LBC>»#AD=4>AC=5>RBD=?

b4 T

4r@ » 2AABCY » D&AB ® DE//BC » £ACDE: % # 5 6 » AABC:h& 4% 5 25 » B

160 [ x@\ A
cm g
2m rz 4m D E
%
B c

3.8 4z 472 % 3 jpmiy
4rBl» ZAABCS ® &= 425, 9 A=90"+ 4D L BC » ¥ ¥ AABC~ADBA~ADAC

Al 2 (1) AB* =BC X BD (2) AC> =BC xCD (3) AD? =BD X CD -

A
B Do

A
(.'Alﬁn
seE - -—-——
4-BB) » AABCY > AD L BC> /BAC=90"> ¢ xBD=4>CD=9> f:
(DAD =2 (2 aAABD : aAACD : aAABC =?
A
B/D‘\c

f;rnj%\m\ ——————————————————————————————————————————————————————————————————————
W ERERIEAE 0L AR O - AT B P R T 2mAse 85§ 0 B

gk ehF St DR 0 F AR dm o R Y F 160cm 0 RIRTE F Pm?

Bl : W AABCE_F 2 AEDC#p i1 ?

@ FhtIwat- BES P HEPQ=8cm 4ok %A B% P Q4

B> FRAE-L G S DEREBE 5 PomA v L kAT Q




bAE

~jUERE L4m o A RGRHET > B3 L£16m; 4

AR HERERSOM > REMEF B E L S P eom?

/ 50cm
/
/;’/
/
//
//
Y 4m
r
/
//
//’
%
7 1.6m
b 4E L -
BINEER BT MEABECDE By G b0 B4 B BEAUE 7R BEA - CF Rt
Gk B 5 H T oL Bl o ¢ rAB = 10m 0 ® & 4k 4R 2 A EFERLE & 6m > B|CD
S5 ?
c
E
10
m |
I 6m
-
B I3 D
b 5E -+ =
bo@l o vE— RABCDE = 238 % - )t KB ACE L > B8R L MN - $AB =16
AD =12 > RIMN =?
D 1\‘,’ c
.\‘0
A M B

GIAEL =

4o > B £ 12008 > A3ABCDY >

= A4EFGH » E~ F ~ GA %] 4B ~BC -
FD - #BF =3 p|- | & & 2,48 &

H

MR & BRI A G4BT 5 5 ABCD I AB » # K30

)

# #4-2,EFAB4-GHFE » 4r
S5k 0 ¢ G B Y EZ BEE M 0 P RAF L3028 s HF =602

HF = 5 GH =452 % >
EFF=352>% > p|% 3 ABCDnE BRAB S %

AL

G :
l;\~—\\_‘""“‘~£1—%.L_5_5 C

Il rg}_‘
H F}\\,A D
bAEL T

Yo AP B - iR

g bt o LREAD w A 41022 0 E et 43227 5id
P BWAAAD wd 48202 » E et d 1202 5 ¥ 1Y

YEIEE R PR REAT L
A/ TR EER?

2 —

4@ 0 2 £ AABCY » ¢

9 e

s/B=90">A4AB=5>BC =12 > D2-%BC
24 AB} o Fw ¥ A,BDEF 5 &+ = 25 » 3R 3 A,BDEF i

B
¥

flm
AN
>
N

E
23

A
ﬁ E
q

-
c
\Du/



